Schiler 1
Schiler 2
Schiler 3
Schiler 4
Schiler 5
Schiler 6
Schiler 7
Schiler 8
Schiler 9
Schiler 10
Schiler 11
Schuler 12
Schuler 13
Schiler 14
Schiuler 15
Schiler 16
Schiler 17
Schiler 18
Schuler 19
Schiler 20
Schiler 21
Schiuler 22
Schiuler 23
Schiuler 24
Schiuler 25

Kriterium

Ergebnis

Klassensprecherwahl mit 3 Kandidaten

klassische konsensiertes
Abstimmung Stimmungsbild
A B C Enth. A B C
* 2
* 2
* 2
* 1 1
* 1 1
* 1 1
*
* 2 1 2
* 2 1 1
* 1 2 1
* 1 2 1
* 2 1 1
*
* 1
* 2 1
*
*
* 1
* 1 1
* 1 1
* 1 1
* 1
* 1
* 2
* 2
10 3 7 5
Stimmanteil Gruppenwiderstand
40% 12% 28% 20% 20 13 17

53




